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QUESTION 1

You create a disk-based table that contains the following script:

CREATE TABLE dbo.Products
(
ProductId bigint IDENTITY(1,1),
Mame nvarchar(5@) WULL,
Deccription nvarchar(max) I'I-iIULL_1I
S5KU char{1@) NULL, @ 3
CONSTRAINT PK “B; PRIMARY KEY CLUSTERED (ProductId)
) ON [PRIMARY] &
G0

You need to prevent duplicate values in the SKU field.
Which five code segments should you use?

To answer, move the appropriate code segments from the list of code segments to the answer area and arrange them in
the correct order.

Select and Place:

Code segments Answer Area

(SKU)

<&
o=
ALTER TABLE dbo.Products 3 \(;5:
o
CHECK Q§g§;

FOREIGN KEY @§§%g§$5?

el
UNIQUE Qé%qi}
o]
ADD CONSTRAI
CK_SKU

Correct Answer:



Code segments Answer Area

ALTER Tﬁ.ELE,ﬂ@J Products

ADD cﬁui@*ﬁw

I.\{

CHECK qﬁv
r\\,xf’
FOREIGN KEY 4 {i,_,i/‘ UNIQUE
|
O
—~ L
:@t - (SKU)

Box 1: ALTER TABLE dbo.Products Box 2: ADD CONSTRAINT
Box 3: CK_SKU Box 4: UNIQUE Box 5: (SKU)

Note: The SQL command is: ALTER TABLE ADD CONSTRAINT UNIQUE ()

QUESTION 2

You need to optimize the index and table structures for POSTransaction.

Which task should you use with each maintenance step? To answer, drag the appropriate tasks to the correct
maintenance steps. Each task may be used once, more than once, or not at all. You may need to drag the split bar

between panes or scroll to view content.

Select and Place:



Tasks
an idantity for UserActivitylD starting at the next vaive

& sequence for UserActivityID starting at the next value

on-disk tab'es using the partitioning scheme

in memory taoles using the partitioning scheme

UserActivity and
UserAcrivity_Archive

UserActivity, UserActivity_Staging, and
UserActivity_Archive Y

Altar the partition function and UserActivizy g
consirainis

Altzr the cartition function and UserActivity Archive
constrainis

Correct Answer:

Tasks
an idantity for UserActivity’D starting at the next vaive

in memory taoles using the partitioning scheme

UserActivity, UserActivity_Staging, and
UserActivity_Archive Y

Altar the partition function and UserActivizy g
consirainis

Maintenance Steps

Convert UserActivity to use Task
~O
Copy UserActivity metadata to @ Task
creste LY *
UserActivity_Archive as (?5\
o

After copying y metadata Task
to create Us. _Staging,
crezte a vi cp of

6,7 =)

@hmg a new partition frem Tack

rActivity_Staging into
WeerActivity_Archive,

Maintenance Steps
& sequence for UserActivitylD starting at the next value

P
Copy UserActivity metadata to é@-disk tab'es using the partitioning scheme

Convert UserActivity to use

create *

QO
UserActivity_Archive as (?5\
o

After copying

to create Us

¢ metadata  UserActivity and

UserAcrivity_Archive

=X

69%téhmg anew partition from

rActivity_Staging into
WeerActivity_Archive,

Altzr the cartition function and UserActivizy Archive
constrainis

QUESTION 3

You have a Microsoft SQL Azure database. You have the following stored procedure:



CREATE PRHOC up employess

RID int,
EName nvarchar (50) &
AS "Q,':

r‘L

5 &
. S .
SE'__.C_ Mame A4S ﬁé‘g;:a_ﬂa_me

FROM HE ....I"EIIQ 5

=] O LN s (D pD |0

'\\__'.-l

i o

']

':“H
OBL ; E-I Employveass
5¢$ ame = @Name

= e OO D OO0 000

ol Lad B =0

You discover that the stored procedure periodically fails to update HR.Employees.
You need to ensure that HR.Employees is always updated when up_employees executes.

The solution must minimize the amount of time required for the stored procedure to execute and the number of locks
held.

What should you do?

A. Add the following line of code to line 05: SET TRANSACTION ISOLATION LEVEL SNAPSHOT

B. Add the following line of code to line 13: WITH (UPDLOCK)

C. Add the following line of code to line 05: SET TRANSACTION ISOLATION LEVEL SERIALIZABLE
D. Add the following line of code to line 08: WITH (UPDLOCK)

Correct Answer: D

QUESTION 4

You have a table named Tablel that contains 1 million rows. Tablel contains a column named Column1 that stores
sensitive information. Columnl uses the nvarchar (16) data type.

You have a certificate named Certl.
You need to replace Columnl with a new encrypted column named Column2 that uses one-way hashing.
Which code segment should you execute before you remove Columnl1?

To answer, move the appropriate code segments from the list of code segments to the answer area and arrange them in
the correct order.

Select and Place:



OFEN SYMMETIRIC KEY EKeyl
DECRYPTION BY CERTIFICATE Certl;

CREATE SYMMETRIC KEY Keyl WITH ALGORITHM = 5 @
onc O

ENCRYPILIUN BY CERTLIFICATE Certl;

ALTER TABLE Tablel @(}
ADD Column2 nvarchar (256): @
ALTER TABLE Tablel @

ADD ColumnZ varbinary(256); [§§§;ﬁ

CLOSE SYMMETRIC KEY; @c))%

CREATE CREDENTIAL Credl WITH IDENTITY @

rl', SECRET = 'P@sswird':

UFDATE tablel SET ColummnZ = Encr ey
(Key GUID('Keyl'),Columnl);

CREATE SYMMETRIC KEY Xeyl WITH ALGORITHM = A
ES_256
ENCRYPTICN BY CERTIFICATE Certl;

Correct Answer:

CREATE SYMMETRIC KEY Keyl WITH ALGORIT =5
HAL

ENMCRYFPTIIUON BY CEKILEICAIE Certl;

ALTER TABLE Takle

ADD Column2 var F1256) ;
TR OPEN S I ¥ Keyl

SIEL. ADLE Zabard DECRYPTL CCERTIFICATE Certl;
ADD Column2 nvarchar (256):

Dh@ablel SET Columnz = EncryptByFRey
pASUID [ "Keyl") ,Columnl);

CLOSE SYMMETRIC KEY;

rl', SECRET = 'B@sswird':

CREATE CREDENTIAL Credl WITH IDENTITY @
¢

CREATE SYMMETRIC KZY Keyl WITH ALGORITHM = &
ES_256
ENCRYPTION BY CERTIFICATE Certl;

Note:

There are a few different hashing algorithms available in SQL Server 2005: MD2, MD4, MD5, SHA, SHA1, with each
having pros and cons.



In cryptography, SHA-1 is a cryptographic hash function designed by the United States National Security Agencyand
published by the United StatesNISTas a USFederal Information Processing Standard.SHA stands for "secure hash
algorithm".The four SHAalgorithmsare structured differently and are distinguished asSHA-0,SHA-1,SHA-2,
andSHA-3.SHA-1 is very similar to SHA-0, but corrects an error in the original SHA hash specification that led to
significant weaknesses.The SHA-0 algorithm was not adopted by many applications.SHA-2 on the other hand
significantly differs from the SHA-1 hash function. SHA-1 is the most widely used of the existing SHA hash functions,
and is employed in several widely used applications and protocols.

*

To encrypt a column of data using a simple symmetric encryption In Object Explorer, connect to an instance of
Database Engine.

On the Standard bar, click New Query.

Copy and paste the following example into the query window and click Execute.
USE AdventureWorks2012;

--If there is no master key, create one now.

IF NOT EXISTS

(SELECT * FROM sys.symmetric_keys WHERE symmetric_key _id = 101) CREATE MASTER KEY ENCRYPTION BY
PASSWORD = \\'23987hxJKL95QYV4369#ghf0%Ilekjg5k3fd117r$$#1946kcj$nd4ncjhdlj\\' GO
CREATE CERTIFICATE Sales09

WITH SUBJECT = \\'Customer Credit Card Numbers\\';

GO

CREATE SYMMETRIC KEY CreditCards_Key11

WITH ALGORITHM = AES_256

ENCRYPTION BY CERTIFICATE Sales09;

GO

-- Create a column in which to store the encrypted data.

ALTER TABLE Sales.CreditCard

ADD CardNumber_Encryptedvarbinary(128);

GO

-- Open the symmetric key with which to encrypt the data.

OPEN SYMMETRIC KEY CreditCards_Keyl1

DECRYPTION BY CERTIFICATE Sales09;

-- Encrypt the value in column CardNumber using the



-- symmetric key CreditCards_Key11.
-- Save the result in column CardNumber_Encrypted.
UPDATE Sales.CreditCard

SET CardNumber_Encrypted = EncryptByKey(Key GUID(\\'CreditCards_Key11\\') , CardNumber, 1,
HashBytes(\'SHA1\\', CONVERT( varbinary, CreditCardID)));

GO
Reference: SQL Server 2012, Encrypt a Column of Data

Ref: http://www.mssqltips.com/sqlservertip/2431/sql-server-column-level-encryption-example- using-symmetric-keys/

QUESTION 5

You have a table named Tablel that stores customer data.

Each customer has a credit limit that can only be discovered by querying multiple tables.

You need to ensure that the value of the credit limit is returned by executing a query on Tablel.
What should you create?

A. A trigger that uses a ranking function

B. A trigger that uses a table-valued function

C. A calculated column that uses a table-valued function

D. A calculated column that uses a scalar function

Correct Answer: C

QUESTION 6

You use SQL Server to maintain the data used by applications at your company.

You need to run two separate SQL statements.

You must guarantee that the following three things happen:

1.

Either BOTH statements succeed or BOTH statements fail as a batch.

2.

If an error occurs on the first statement, SQL should not attempt to run the second statement.

3.



Error information should be returned to the client. What should you do?

OA oc

SET XACT_ABORT OM
BEGIN TRY

BEGIN TRAMNSACTIOM

++ s 3tatement 1

= s Statement 2
COMMIT TRANSACTION
END TRY

BEGIN CATCH

ROLLBACK TRANSACTION

END CATCH
(OB. SET XACT_ABORT OFF
BEGIN TRY
.« -3tatement 1
END TRY
BEGIN TRY
.« cStatement 2
END TRY
BEGIN CATC ¢
THROW
END C

N

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

SET XACT ABORT OFF
BEGIN TRANSACTION

BEGIH TRY
sa-5tatement 1
.-5tatem

END TRY
BEGIN CAT
o o

COMHIT TRAHSACTIOHN
EHDP CATCH

SET XACT_ABORT OFF

BEGIH TRY

BEGIH TRAHSACTIOHN
c.-3tatement A1
s.-%tatement 2

EHD TRY

BEGIH CATCH

ROLLEACK TRAMSACTIOH

THROW

EHD CATCH

* SET XACT_ABORT When SET XACT_ABORT is ON, if a Transact-SQL statement raises a run-time error, the entire
transaction is terminated and rolled back. When SET XACT_ABORT is OFF, in some cases only the Transact-SQL
statement that raised the error is rolled back and the transaction continues processing.

QUESTION 7
You have two existing tables, one named COUNTRY and the other named STATES.

The tables are defined as follows:



CREATE TABLE COUNTRY

Country_Abbr CHAR(3) PRIMARY,
Country_Description VARCHZ

B8} Hot Hull

CREATE TABLE STATES

State_ibbr CHAR(S! PRIMARY KEY CLUSTERED,
State_[lesc"@n VARCHAR{38) Mot Null,

Country Abb HAR{ 3} Hot Nwll

CLUSTERED,

You need to set up a rule that every STATE.Country_Abbr must match an existing record in the COUNTRY table.

Develop the solution by selecting and arranging the required code blocks in the correct order.

You may not need all of the code blocks.

Select and Place:

Code Blocks

REFERENCES STATES (Country Abbr)

REFERENCES COUNTRY (Country_ Abbr)

CMN STATES
FOREIGN KEY (Country Abbr)

ON COUNTRY

ADD CONSTRAINT FK_Statelountr CD@%)

R

&

ON COUNTRY ABBR
ALTER TABLE COUNT
ADD

FOREIGN K_StateCountry

ALTER TABLE STATES

Correct Answer:

Answer Area

@@”@@

2\°



Code Blocks Answer Area

REFEREMNCES STATES (Country Abbr) ALTER TABLE STATES
AN\

ADD r:-:msrnmm@ ateCountry
il

ON STATES FDREIGN@ S%Quntry_&bbr

{_}

L

R ES COUNTRY (Country Abbr)

"\_f-'
IW
ON COUNTRY ]]}
A

@:ﬁ:x’

=

"N 50
ON COUNTRY_ABBR \% "

ALTER TABLE EUUHT_Em

_&°
ADD FOREIGN FK_StateCountry

Note:

To allow naming of a FOREIGN KEY constraint, and for defining a FOREIGN KEY constraint on multiple columns, use
the following SQL syntax:

MySQL / SQL Server / Oracle / MS Access:
ALTER TABLE Orders

ADD CONSTRAINT fk_PerOrders
FOREIGN KEY (P_lId)

REFERENCES Persons(P_lId)

QUESTION 8
You are planning two stored procedures named SProcl and SProc2. You identify the following requirements:
SProcl must return a table.

SProc2 must return a status code.



You need to identify which options must be implemented to meet each stored procedure requirement.
Which options should you identify?

To answer, drag the appropriate option to the correct requirement in the answer area. (Answer choices may be used
once, more than once, or not at all.)

Select and Place:

Options Answer Area
"Ii:\:'\-\.
a raise error e
e
EPrDclr,\@E-‘ Option
. @
a return value ) %&H
i foca Option
= et
a SELECT statement gf’ﬁ
ﬁ-E-_';.
o
a table-valued parameter (TVP)™"
Correct Answer:
Options Answer Area
-'I:‘-:'\-\.
a raise error on"
@;‘3 ELECT statement
EprC];f@ia:}s
%
-2  areturn value
P
2]

a table-valued parameter (TVP)"

QUESTION 9

Your company has a SQL Azure subscription.

You implement a database named Databasel. Databasel has two tables named Tablel and Table2.
You create a stored procedure named spl. Spl reads data from Tablel and inserts data into Table2.
A user named Userl informs you that he is unable to run sp1.

You verify that Userl has the SELECT permission on Tablel and Table2.



You need to ensure that Userl can run spl. The solution must minimize the number of permissions assigned to User1.
What should you do?

A. Change sp1l to run as the saUser.

B. Grant Userl the EXECUTE permission on spl.

C. Add User1 to the db_datawriter role.

D. Grant Userl the INSERT permission on Table2.

Correct Answer: B

http://msdn.microsoft.com/en-us/library/ms191291.aspx

QUESTION 10

You need to implement a solution that addresses the bulk insert requirements. What should you add to line 91 in
usp_IlmportOrderDetails?

A. TABLOCK,

B. MAXERRORS=0,
C. BATCHSIZE=1000,
D. LASTROW=0,
Correct Answer:

BATCHSIZE specifes the number of rows in the BULK INSERT opetation to be copied to the server as one transaction
at a time. If this transaction fails, SQL Server commits or rolls back the transaction for every batch. Incorrect Answers:

A: TABLOCK specifies that a table-level lock is acquired for the duration of the bulk-import operation.
B: MAXERRORS specifies the maximum number of syntax errors allowed in the data before the entire bulk-import
operation is canceled. Each row that cannot be imported by the bulk-import operation is ignored and counted as one

error.

D: LASTROW specifies the number of the last row to load. The default is 0, which indicates the last row in the specified
data file.

QUESTION 11

You have a database named databasel. Each table in databasel has one index per column.
Users often report that creating items takes a long time.

You need to perform the following maintenance tasks:

Identify unused indexes.



Identify indexes that need to be defragmented.
What should you use?

To answer, drag the appropriate function to the correct management task in the answer area. (Answer choices may be
used once, more than once, or not at all.)

Select and Place:

Functions Answer Area
sys.dm_cdb_index_usage_stats Identify unused indexes, g‘@x\ Furction
N
sys.dm_cb_index_operational_stats Identify indexes that 8 Eiinition
to be defragmente
sys.dm_cdb_index_physical_stats i“g‘&:{—’v
= &
%’éf
sys.dm_db_missing_index_columns \@@>
sys.dm_db_missing_index_details ii\'-‘f“\’
o
sys.dm_cdb_missing_index_groups
Correct Answer:
Functiong Answer Area
Identify unused indexes, @5 .dm_cb_index_usage_stats
‘g_y
sys.dm_db_index_operational_skats Identify indexes that%q sys.dm_db_index_physical_stats
ta be defragmen .-
i_\b.c‘-\':\//
[=> o
%@
sys.dm_db_missing_index_columns \() @>
sys.dm_cdb_missing_index_details )
&

sys.dm_db_missing_index_groups

sys.dm_db_index_usage_stats

Returns counts of different types of index operations and the time each type of operation was last performed.

*

sys.dm_db_index_physical_stats



Returns size and fragmentation information for the data and indexes of the specified table or view.

QUESTION 12

You have a table named ORDERS that contains 10,514,003 Orders. The ORDERS table has an IDENTITY(1,1) column
named ORDER_ID. ORDER_ID is the UNIQUE CLUSTERED INDEX and PRIMARY KEY for the table. The first
ORDER_ID is 1. There are no missing ORDER_IDs in the set.

Based on table usage patterns, you decide to use partitioning on this table based off of the ORDER_ID column.

You need to create the following partitions:

Partition «Values

Orders ﬁgﬁOODDO
0rde:r§i§f'-‘-"’?,500,000 and <= 10,000,000
Ordérs > 10,000,000

Ui b |

Which Transact-SQL statement should you run?

A. CREATE PARTITION FUNCTION pfOrderIDRange (int) AS RANGE RIGHT FOR VALUES (7500000,10000000)
B. CREATE PARTITION FUNCTION pfOrderIDRange (int) AS RANGE LEFT FOR VALUES (7500000,10000000)

C. CREATE PARTITION FUNCTION pfOrderIDRange (int) AS RANGE RIGHT FOR VALUES (0,7500000,10000000)
D. CREATE PARTITION FUNCTION pfOrderIDRange (int) AS RANGE LEFT FOR VALUES (0,7500000,10000000)
Correct Answer: B

We need to specify two boundary values that separate the partitions. And we must use RANGE LEFT as the boundary
value must belong to the partition to the left. Incorrect Answers:

A: With RANGE RIGHT the boundary value belongs to the partition to the right. It is the equivalent of >=. C, D: Providing
three boundary values will result in four partitions.

References: https://docs.microsoft.com/en-us/sql/t-sql/statements/create-partition-function-transact-sql?view=sq|l-
server-2017
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